Construction division. Advice for giving credit to contractors/suppliers.

	Sl. No. – site bills register		12	Date - site bills Register			oills	3	11	22	
Canada Name		VUP.	Cit				SOV-IE.				
Nam	e of Contractor	50	DLL F.	• ;	0	nonki	Ron				
Natu	re of work		· · · · · · · · · · · · · · · · · ·	الماء	mai	on w	vat	P.H.	291	Soah	
Wor	k done	From	Date	2	. 1	22 7	o Date		3	111/	n
Sl. No.	Villa/Flat/block no	o. Q	ty.	Rate	-	Units 1	Amou	int	1	Contra bill no	ctors
1.	V. NO-173 A	0	490	7	- -	sh	3,4	34	-		
2.	199.4146	•					-				
3.					4	10	-	,			
4.	V. NO - 130 re	n'n)	271-3	7	r J-	sfr	1,8	99			
6.					1	0		0.	-		
7.	N. NO-31 97:11	defi.	154.5		}	sf	1,0	851	-		
8.	. 101 12	_	20	0	00/2	Noi	14,	onl	_		
9.	v.po-101-13:	7.	30 50		\n -	200		.000 l	~		
10.	Cwiri ziri-jin		30		<u>וע</u> בו		71	3001	4		
11.	. Т	otal:					27,	915	-	,	
Bill	required	D YES	S NO.		GST	bill requ	iired	YE			
	surement &	Req			i	urement	1		close		
	nate sheet: WO no.	□ Not	required	celanoci		estimate sheet: PO/WO date:		☐ Not enclosed			
	arks:										
Kem	arks:										
-											
							•				
Aug	LARPROVED	"B.Y.	Appro	wed b	v Desi	m Taan	App	royad	by N	1 D	
MUDI	Approver by Rock to Annager		Appro	Approved by Design Team			App	Approved by M.D.			
		200	Date				Date				
Date	0.3 NOV 2	022	Date:				Date				

Notes: by The William of the State of the William of the State of the

ģ

ESTIN	MATE SHEET						
Compa	any Name:	SIlver Oak Villas LLP-III					
Project	i:	Silver Oak Villas-III					
Work 1	Description:	Grills & railing Fitting work					
Name	of the Contractor	Duguru Ramulu					
Prepare	ed By	B.Meenakshi					
Date:		02-11-2022					
S No.	Item Head	Item Description	Quantity	Units	Rate	Amount	Item Head Total
1	Villa no 173,174,175,176,177,178,179	Gates fitting Charges	490.6	sft	7.0	3,433.92	
	146						
2	Villa no 130 refixing of gate	Gates fitting Charges	271.3	Sft	7.0	1,899.24	
3	villa no 31 grill replacing	Grills fitting charges	154.5	Sft	7.0	1,081.50	
4	Villa no 101-135	Cloth hangers fabrication and fitting	70.00	Nos	200.0	14,000.00	
		Cloth hangers fabrication only	50.00	Nos	150.0	7,500.00	
						Amount	27,914.66
		Total Amount in words: Twenty Seven	Thousand Nir	ne Hundre	ed Fiftteen R	upees Only	



EMEN	T SHEET								
pany Na	ime:	SIlver Oak Villas LLP-III				Approved	l by:		
Project:		Silver Oak Villas-III				Sign:			
Descrip	otion:	Grills & railing Fitting work							
ractor N	lame	Duguru Ramulu							
epared I	Зу	B.Meenakshi							
Date:		02-11-2022					*		
S No.	Item Head	Item Description	Length	Width	Height	Nos.	Quantity	Units	Item Head Total
	Y (1) 172 174 175 176 177 179 170	Gates fitting Charges	11.83	1.00	4.00	8.00	378.56	Sft	
1	Villa no 173,174,175,176,177,178,179	Gates litting Charges	3.50	1.00	4.00	8.00	112.00	sft	
	146		3.50	1.00					490.56
2	Villa no 130 refixing of gate	Gates fitting Charges	11.83	1.00	4.00	1.00	47.32	Sft	
2	Villa no 130 renxing of gate	Cutos httmg enmger	7.00	1.00	4.00	8.00	224.00	sft	
									271.32
3	villa no 31 grill replacing	Grills fitting charges	6.00	1.00	4.00	6.00	144.00	sft	
3	vina no 31 grin replacing		3.00	1.00	3.50	1.00	10.50	sft	
									154.50
4	Villa no 101-135	Cloth hangers fabrication and fitting	5.00	1.00	2.00	70.00	70.00	Nos	
4	v ma no 101-133								70.00
		Cloth hangers fabrication only	5.00	1.00	2.00	50.00	50.00	Nos	
									50.00

Bill for Labour Charges

D.Ramulu China Cherlapalli

Date: 03-11-2022

In favor of:

M/s. Silver Oak Villas LLP

Project / Site:

Silver Oak Villas

Location:

Cherlapally

Type of Work: Towards:

Welding Work Labour Charges

S No.	Description	Amount
1.	Brief description of work done:	
	Towards Villa no 173 to 179 and 146 and villa no	Rs.11,166/
	130,31,101-135 cloth hangers fixing	
	Total Amount:-27,915	
	date: 02-10-22 to date:2-11-22	

Amount in words: Eleveen Thousand One Hundred Sixty Six Rupees Only/-.

Sìgn:	
-------	--

Bill for Allowance for Equipment

D.Ramulu China Cherlapalli

Date: 03-11-2022

In favor of:

M/s. Silver Oak Villas LLP

Project / Site:

Silver Oak Villas

Location:

Cherlapally

Type of Work:

Welding Work

Towards:

Allowance Equipment

S No.	Description	Amount
1.	Brief description of work done:	
	Towards Villa no 173 to 179 and 146 and villa no	Rs.8,375/
	130,31,101-135 cloth hangers fixing	
	Total Amount:-27,915	
	date: 02-10-22 to date:2-11-22	

Amount in words: Eight Thousand Three Hundred Seventy Five Rupees Only/-

Sion			
Sign:	 	 	

Bill for Allowance for Consumables

D.Ramulu China Cherlapalli

Date: 03-11-2022

In favor of:

M/s. Silver Oak Villas LLP

Project / Site:

Silver Oak Villas

Location:

Cherlapally

Type of Work: Towards:

Welding Work

Allowance consumables

S No.	Description	Amount
1.	Brief description of work done: Towards Villa no 173 to 179 and 146 and villa no 130,31,101-135 cloth hangers fixing Total Amount:-27,915 date: 02-10-22 to date:2-11-22	Rs.8,375/

Amount in words: Eight Thousand Three Hundred Seventy Five Rupees Only/-

Sign:	
-------	--